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4.[474] Consider the system shown below.
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(a) Draw the free-body diagram for each mass.

(b) Derive the equations of motion based on the
Newton's second law of motion, and express the
equation in a matrix form.
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6.[64] Calculate the response of the undamped

system given by
T+ wir = f, e bt
using the Laplace transform method. Assume

that b >0 and that initial conditions are all zero.
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6.[64] Calculate the response of the undamped
system given by

tt) + wlzlt) = f, (@ >0)
using the Laplace transform method. Here f; is

constant and initial conditions are all zero.
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B0 FA%E 5 = Ahsw
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muwgJ gy 1y
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